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SUBJECT : ENGLISH

Reference Books:

1.
2.

. True/False

. Question answer

English for Today - NCTB
Advanced Learner's  Functional
Chowdhury & Hossain.

1%t & 2" CT Marks Distribution

Seen passage

English ~ Grammar

1x4 =04
1x4 =04
2x2=04
Letter 1x8 =08

Matching/Fill in the blanks

Total = 20
Marks Distribution of Half Yearly & Yearly Exam
A. Seen passage

1x6=06
1x5=05
2x6=12

True / False
Match the given words with their meanings
Question answer

Ty T AN % | reTIfeTwd e o | oI Tl
ANy ZSINWET@TW/?IIWW QERI
I TBT G- oW 2w

B. Unseen passage

True / False 1x6 =06

SR ST~ GFRTGE [ AT =77 (5B1-9d)

31 AR Freaaer
?%;61(»817 BT T Y00 7[BI-SA I 32

F | AT LG - AW A (2%l '8 LFRCIM)
- 7% oAfFqe @ forr AfGae
< | QU ST I AR (LT S STEN)
o | 2R AT - GFLILT/ TNLF > (FB1-9%)
T | SRV SGT- I ALIOA (b S b3 73)
S GHA:
F | SN N AT A 9 | o wifew (eewe
o | (ETITS #1191 21T gy
515/ Staweora:
T | IS AT T 2B T S (o WF @ og fore |
q | TSR QIRCTR &5 QIR (SR I@ SIREF IR GF10 o o |
51 TSR @it [{ew Soerewy fo Move =6 ooe fwyremcas s/
YT PR II9T QB SNamaiq fore |
oA F | AR Rt ¥ | BAGIRCE Wi 8 F84y
7 | com fay = T | JIFCHR TGS

1x5=05
2x6=12

Fill in the blanks with clue
Question answer
Part-C

Short questions (Students will answer by

understanding instructions / directions /

procedures to do any work) 1+2+3 =06

Grammar 20

Re-arrange 1x5=5

Form completion 05

Letter writing 08

Composition 10
Total = 100

1°' CT Syllabus
English for Today: Unit (1-15)
Grammar: Sentence (definition, classification, identification),
Parts of Speech (Noun, Pronoun, Adjective), Number.




Letter writing:
a. A letter to your father requesting him to send you some
money for buying some books.

b. A letter to your friend inviting him to join a picnic.
Paragraph: My native village.

Syllabus of Half Yearly Exam
English for Today: Unit 1-25.
Grammar: Sentence (definition, classification, identification),
Parts of speech (verb, adverb, preposition) Strong verb,
Number, Tense-(Present)
Re-arrange
Letter writing: Revision,
Paragraph: My native village,
Bangladesh.
Form completion.

Newspaper, Birds of

2" CT Syllabus
English for Today: Unit (26-34)

Grammar: Weak verb, Tense (Past Tense), Gender.

Letter writing:

a. A letter to your friend about your aim in life.

b. A letter to your friend congratulating her/him on her/his
brilliant success in the final examination.

Paragraph: Your favourite game.

Syllabus of Yearly Exam
English for Today: Unit 26-42.
Grammar: Weak verb, Punctuation & capitalization, Use of
right form of verbs, Tense (Future Tense), Gender.
Re-arrange.
Letter writing: Revision.
Paragraph: Your favourite game, Rainy Season, My Family.
From Completion
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